v=e” Soluton to the Final Exam Math 30, Spring 08

AV = ﬁ(qfe?‘?/) Ay

w3
2, vEfmlaedy
Ry e 3
'\f:_'ﬂ"(c(ya%) )

Vo= ﬁ[‘?/n? - ’z *‘l—;)
\/ ~ YTC":/M?—‘-/)

L
X

@ 2) gvs?m(:\r) ol duu::{nxc{x

5 S inlui) Ay T T —
— CDS(MX +
~cos) o
) ___L-/—-—"—"“ AX X = J—?‘;‘Qné X‘L_.}.g ')('
b) g X°J s Ax =15 sectedo
{ ES‘&J‘@&B J_‘g/

g .

€ 4o (5 tamot § \



ayatskar
Typewritten Text

ayatskar
Typewritten Text
Solution to the Final Exam Math 30, Spring 08


f !

= L - LA _ .
Y jxn Xtz [ = Alxe2) + Rlwr2)
}n?( = /Vl(K“Fl) -[n(?{-f?} £+ K=-3 - = -8 @

y):l > (ul2 n )~ 1~ {3) + X2-2 =2 @

E”l <’L Ay = | = dx ( - £ E
YY )4 gx +5x +é (X+'ZZX1~3') ) —(*-;;B
In :

C ~ L 3 \
.3 A )
 3x#2)
- X+
E} Am B At
—;—i—; = Rm wm =~ Mg €
. ~ X (%)
gf dm = (-2t t b6 e ®
at ln .66 >\ ) | ™
fwn = At E 3 - / 3tn Y \
mor e ef L T it > Sy ,
.,..,_\\--—,’—J///".

C’ :
AC g (C-uso)” (C-tooY <350

At
&‘BC = 380 H@ej 4§ b
Wl o e o seddle
NI SORG N o
30 1 S _S{-ala[e,
/ .




7 AP
[:) e W Plo) =P,

ot
/(') (Wf o“) = @A‘F
e . fm(?{ﬂo»}iﬂ\ -t ~+lm(?tf,,+m)
‘V\(?\P‘TV"‘\ 2 + < ! ‘ L
M:D)’.é)o 2 i (?\Ptﬁm\ R /? )P;m ” (,i>l? PD'+V;).?
: = e

X

— = — 2 .
oAt 62w+ DO0BLxy =O F  -2000x 41Xy =0
)((*16&041?,);0

X=0D
/ \/: { d&e

7 [OQY*Xy:D
y ({8d-x) = 0
y=0 K =ito






